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NCERT Solutions for Class 7 Maths Chapter 9

Rational Numbers Class 7

Chapter 9 Rational Numbers Exercise 9.1, 9.2 Solutions

Exercise 9.1 : Solutions of Questions on Page Number : 182
Ql:

List five rational numbers between:
(i)-1and 0O (ii))-2and -1

(iii)

Answer :
(i) -1 and O
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=1 =l =] =1 =l
107 207 307 407 50
(i)-2and -1

—2=12 and -1 = =5
6

Five rational numbers are

Sll-10 -9 8 7

] £l . bl

6 6 6 6 6

= and =
(i) 2 3

—4_-4x9_-36 -2 -2x15_-30

= and—= =
5 5x9 45 3 IxlS5 45
Five rational numbers are

-35 -34 -33 -32 =31

b} s

45° 457 457 45 45

-
(iv) 2 3
1 Ix18 18 .2 2x12_24

—-= =—and— = =—
2 2%x18 36 3 3x12 36

Five rational numbers are

19, 2 2L 2% 43

36" 36" 367 36" 36

Q2:
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Write four more rational numbers in each of the following patterns:

-3 =6 -9 =12 -1 =2 -3
0 510015720y 47812

-1 2 3 4 2 2 4
w 61218247 ) 336"

Py

6
i

Answer :

-3 -6 -9 =12
05 10" 15 20
-3x2 -3x3 -3x4
5x2 7 5x3 7 5x4

=3
5 L]

It can be observed that the numerator is a multiple of 3 while the denominator is a multiple of 5 and as we increase them further,
these multiples are increasing. Therefore, the next four rational numbers in this pattern are
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—3x5 —3x6 —3IxT —3x8
5%5 7 5x6  5x7 5x8
-15 -18 -21 -24
25730 735740
(if)

-1 -2 -3
48 127"

-1 —I=x2 —1=3
T, 4% . 43

The next four rational numbers in this pattern are
=Ix4 =1x5 —1x6 —1x7
4x4 7 4x5 7 4x6  4x7
-4 -5 -6 -7
167 200 247 287
(iii)
-1 2 3 4
6 -12° —18° 247
-1 Ix2 1x3 Ix4
6 —6x2"—6x3 -6x4"
The next four rational numbers in this pattern are
Ix5 1Ix6 Ix7 1x8
—6x5 —6x6 —6x7 —6x8
5 6 7 8
-30" =36~ -427 -48 "
-2 2 4 6
w3 3% 9"
=2 2 2x2 2x3
3737 3x27 337
The next four rational numbers in this pattern are
2x4  2x5 2x6 2x7
-3x4" =3x57-3x6 -3x7
8 10 12 14
-127-15"-18"=21"
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8i3v;e four rational numbers equivalent to:
2 5 4

0 T 6y =3 @iy 9

Answer :
=2

W 7

Four rational numbers are
—2x2 -2x3 -2x4 -2x5
7x2 " 7x3 7Tx4 Tx5

14721728 35
3
iy =3
Four rational numbers are
5x2 5x3 5x4 5x5
~3x2 -3x3 -3x4 -3x5
10 15 20 25
6" 9" 12" ~15
4

iy 9

Four rational numbers are
4x2 4x3 4x4 4x5
9x2'9x3"9x479x5
8 12 16 20
187 27 36" 45

Q4:
Draw the number line and represent the following rational numbers on it:
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3 -5
0] E (in) ?

=7 7
(iii) 4 (iv) 8
Answer :

3
@) 4

This fraction represents 3 parts out of 4 equal parts. Therefore, each space between two integers on number line must be divided
into 4 equal parts.

3

4 can be represented as

-+ f ot
1 0 I
=5

i 8

This fraction represents 5 parts out of 8 equal parts. Negative sign represents that it is on the negative side of number line.
Therefore, each space between two integers on number line must be divided into 8 equal parts.

=

8 can be represented as

: et ;
=7 3

-z

iy 4 4

This fraction represents 1 full part and 3 parts out of 4 equal parts. Negative sign represents that it is on the negative side of number
line. Therefore, each space between two integers on number line must be divided into 4 equal parts.

K
4

can be represented as

iv) 8

This fraction represents 7 parts out of 8 equal parts. Therefore, each space between two integers on humber line must be divided
into 8 equal parts.

7

8 can be represented as
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Q5:

The points P, Q, R, S, T, U, A and B on the number line are such that,

TR =RS = SU and AP = PQ = QB. Name the rational numbers represented by P, Q, R and S.
USRT

APQE

Answer :

Distance between U and T = 1 unit

+——+
-1

2 Q. !

4
T

0 1 T

q-1_3 1 4

"= 303 3 3

I 2 3 2 5

Itis divided into 3 equal parts.

Similarly, AB

=1 unit

Itis divided into 3 equal parts.

6 1
2+l=—+—=1

. 3 3 3 3

2 2

o- 3 3 33

Q6:

Which of the following pairs represent the same rational number?
-7 16 0 i
—andE ﬁan 2— —zand%

(i) 2 I 9 (ii) 20 —25 (iii) —3 3

4 . 8 ~24 -
—%mdi2 ——and —— land—]
i and .

wi) =2 9

Answer :
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, therefore, it does not represent same
rational numbers.

Therefore, it represents same rational numbers.

Therefore, it represents same rational numbers.

Therefore, it represents same rational numbers.

— and —
il [ |
21 3
S
9 3
-1 1
—_—
Aas 33
-16 20
-16_-4
20 5
204
25 5
_—2 and 3
iy —3 3
-2 2
-3
=3 and =12
-12_-3
20 5

Therefore, it represents same rational numbers.
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, therefore, it does not represent same
8 —8 rational numbers.

. therefore, it does not represent same rational numbers.

Q7:

Rewrite the following rational numbers in the simplest form:

s 2
M 6w 4

ST
@iy 12 v 10

Answer :
-8 -4x2 -4
(i)?_ 3Ix2 3
25 x5 3
o 35 9x5 9
-44 -11x4 -1l
iy 72 18x4 18
-8 -4x2 -4

(iv)ﬁ— 5)(2 ?

Q8:
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Fill in the boxes with the correct symbol out of >, <, and =
Sp2 S4gs og

(i) 7 3 (i) 5 7 (i) 8 -16
302 1o 223

ivy 2 4 vy 34 ) 11T

=7
(vii) 6
Answer :

0}
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-5 _-5x3_-I§
7 7x3 21
2 2x7 _E

3 3x7 21
As - 15 < 14,

=g2

Therefore, 7 3
(if)

-4 _ —4x7 _ -28
5  5x7 35
-5 _—5x5 _-25
7- Tx5 -g
As-28<-25

.

Therefore, 5 7
14 7x2 7 -7

(iiiy Here, A6 3 -8 8

=7 14
Therefore, -16
(iv)

8 _-8x4_-32
5 5x4 20
=1_7xs _-35
4 4x5 20
As - 32 >- 35,
|

Therefore, - |
v)

il -4
3 3x4 12
] Ny =5
4 4x3 12
As-4<-3,
b
T

Therefore,
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A
w —11 11

0%

(vii)

Q9:
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Which is greater in each of the following?
25 34 32
w326 6 3 @y 4 -3

-1 .2 .4
w 44y T 5
Answer :
23
M3 2
By converting these into like fractions,
2 2x2 4
3 3x2 6
5 5x3 15
2 2x3 6
2
As 15 > 4, therefore, 2 is greater.
= o
i 6 3
-4 4x2 -8
3 3x2 6

As—5>-8, therefbrc,—?s is greater.

(i)

o )

4’ -3

g o
473

By converting these into like fractions,

Eduinput
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-3_-3x3_-9
4 4x3 12
-2_-2x4_-8
30 3x4 12

-3=, _3i
W) 7 5
23 -1

£l

7 5
By converting these into like fractions,

23 -23x5 _-115

7 Tx5 35
-19 =19x7 =133
5 5x7 35

b
As—115>-133, therefore,— 3%is greater.

Q10:

Write the following rational numbers in ascending order:

B2 ABHE -3-3-3

(i)s‘s‘s(”) 3'973 4, 77274

Eduinput
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Answer :

32 o

oS 57

As-3<-2<-1,

By converting these into like fractions,
-1x3 —2 —4x3
3x379 7 3x3
—3 —2 —12
999
As-12<-3<-2,

-3 -3 -3

iy 72 4

By converting these into like fractions,
-3x4 -3x14 -3x7
Tx4 ' 2x14 " 4x7

-12 42 -21
BBRH

As-42<-21<-12,

Exercise 9.2 : Solutions of Questions on Page Number : 190 Q1
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Find the sum:

4 (—ll) 53 -9 2
—_—] — DR . s s

- = =3 -
_3.|. E _._8_+ i____). _2+0
_21 +4§
(vii)
Answer .
(i}45+H(-11 4) =45-11 4 =16-5520 =-39 20
5 3
— —
(i) 3 5

L.CMof3and5is 15.
5 3 5x5 3x3 25 9 2549 34

e . = -+ = =
3 5 3x53 3%3 15 15 15 15
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-9 22
(iii) IO 15
L.C.Mof 10 and 15 is 30.
-9 22 —9x3+22x2_—27 44_—27+44_£

10 15 10x3 15x2 30 30 30 30

-3 .5 3.5
— e IS e —
w11 9 119

L.C.Mof 11 and 9is 99.
3,5_3x9 5xl1_27 55_27+55_82
9x11 99 99 99 99

11 9 11x9
8.(2)__8 2
w19 57

19 57

L.C.Mof 19 and 57 is 57.
8§ 2 8§x3 2 24 2 -24-2 -26

19 57 19x3 57 57 57 57  s7

_—2+0=_—2
(vi) 3 3
B L2

L.C.Mof3and 5is 15.
=7.23 -7x5 23x3_-35 69 _ -35+69 34

+ 4 = +—= =—
3 5 3Ix§ 5x3 15 15 15 15
Q2:

Find

B s )5

M 24 36 ) 63 | 21 (i) 13 15

3.1 Lls
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Answer :

¢ 17

o 24 36
L.C.M of 24 and 36 is 72.
7 17 _ 7x3

24 36 24x3 36x2 72 T2 T2

5 (—6) 5 2
Eo] aulll 2
(i) 63 \ 21 63 7
L.C.Mof 63 and 7 is 63.
5 2 5 2x9 5

34 21-34 -13
- e}

18 _5+18 23

— e — T — e e —
63 7 63 7x9 63 63 63 63

-6 (-7) -6 7
o 0 sl R (B
iy 13 \15) 13 15

L.C.Mof 13 and 15 is 195.

-6 7 =6x15 7Tx13
_ + _

=90 91 -90+9] 1
+ = =

13715 13x15 15x13 195 195 195 195
=4
o BT
L.CMof8and 11 is 88.

-3 7 3xIl 7x8 33 56 -33-56 -89
'8 11 8xIl 11x8 88 88 88 88
ol _-_1_6

w 9 9 1

LCMof9and1is9.

19 6 19 6x9 19 54 -19-54 -73
D 1 9 1x9 9 9 9 9

Q3:
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14
Find the product:
-7 —
H{T) 2x) B2
W2 LA 10 iy 5 11
3x -2 3 2 3 -5
T\5) Bk 3
(iv) (v) (vi) —
Answer :
EX(i]_"XH)_ﬁ
(i)Z 4 2x4 8
9 i i3
i>-<(_9)=—3')<( ')=3X{ 9)= 23
7\s5) 7xs 35 @ )
3,232 6
3,55 _3xe9) 15|
-5 3 (-5)x3 -15

Q4:

Find the value of:
(—4)-!-E _—34.-2 ﬁ-1-(—3)
(i 3y S i

-1.3 41 _7[_2]
v 8 413 712 \13

L[i]
13 |65

(vii)
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Answer
2 oy [ )
_4.:_::—4)(3:#:—6
. 2
(i) = =
-3 5 -3 1 =3x1 -3
—_— W — = =Sy
i 3 3 2 52 10
‘_4;(_3)_ﬁ L _(4)x1_ 4 4
5 -3 5x(-3) -15 15

" i
wB T I§ 1B
:L(:Z.) =713 _(7)x13_-91_9l

]7 _'; l”x( ')) 24 24

i;[i) 3 65_3x65 _195_ 15
' 1374 13x(-4) -52 4
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